——
N = 0 & AF S 99 N A
2021 S0 A LBHSIAH & A
2N Aol AIE A
HH: JIS=2s=A4E S22
& =2 2el Lt (9 ® =)
4
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
Aol AP A 25,791,396 20,337,893 5,453,503
= 3,738,000
g 1,426,000
& 11,263,700
= 9,363,696
OS2 AIE S22 8,898,348 5,196,623 3,701,725
o= 4,948,000
= 3,950,348
Al 285 227,166 205,266 21,900
I £=E2 2B A 227,166 205,266 21,900
201 et 201,190 179,290 21,900
02 232 H4| 201,190 179,290 21,900
Ottsas sdlolgas
100,000 x23| &1 x 2,400
Oltsass =Z2HA =& 198,790
-3 22,580
A4 (H=2268=2/8H])
35,000& * 1000 A~ 23] 700
A4 (HZ 4082 /24)
250,000 * 1000 A % 13] 2,500
A& (Rot4:1182/24)
85,000& 228l A % 13| 19,380
— & 176,210
1De=(eteE) 55,000 %228l A %23 25,080
151 &= 85,000& #2387l A~ 33| 60,690
- B0 E = 380,000 238 A +13] 90,440
206 M = Hl 25,976 25,976 0
01 X2 Hl 25,976 25,976 0
OR2 A5 ¢ 12,000 *238H 2«63 17,136
OFTAM IR L A% 2
5,500 x800 4 4,400
O0tdZY 00|32 2E 2
185,000 2 X x12& 4,440
AT AlA 22 305,000 422,400 A 117,400
= 43,000
= 262,000
A S22 (EH|) 143,000 143,000 0
& 43,000
= 100,000
307 gizto| A 143,000 143,000 0
& 43,000
= 100,000
05 QIZtRES 143,000 143,000 0
OZHIEXZ ALY 143,000




A dot=Z A A
BE: SSTHAE BB
Chel: AT A&ZR CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— IS4+ gz AR (LRSS AE)
143,000, 000& 14 143,000
= 43,000
s 100,000
A SR 2l (KA 162,000 279,400 A 117,400
201 £B-2%H| 42,000 0 42,000
02 =24l 42,000 0 42,000
O&dt=S AIZ=2 BHAZH 42,000,000 *14) 42,000
307 glz2tol & 120,000 279,400 A 159,400
05 RIZt2E = 120,000 279,400 A 159,400
ODISM4E U AR224AIM FII2 X
120,000, 000& 14! 120,000
=T A& 8,366,182 4,568,957 3,797,225
< 4,905,000
fia 3,461,182
OS24+ RAESAY 2,000,164 1,997,957 2,207
203 YR =&l 3,000 3,000 0
03 AIF=XH R =AH| 3,000 3,000 0
Odx=& AFEX 3,000,000& 3,000
401 A& HIZ 201 8] 1,997,164 1,994,957 2,207
01 A& HI 1,990,000 1,987,800 2,200
OllgidsE 23RNES
5,000,000 x1700H 2 850,000
OXIGhs=(2&) He 150,000, 000& «37H £~ 450,000
OXIct= OIEAEHEZALE S 100,000,000 * 14 100,000
O&=% 22 &X(1HL)
200,000,000& *1JH £ 200,000
Olts&=5 S ALY
2,500,000 2004 2 50,000
OLISidsE MESHES(RAZTEI, AEE
UIl, LEUIIAIL) 10,000, 000& * 15K £ 150,000
O=%3 2= % Wi 15,000,000 *109H £~ 150,000
Os=s&8 ALEFANLEEX & K2
1,000, 0003 *40H £~ 40,000
03 Al 2 0HHI 7,164 7,157 7
Olts&+=E RAE+ AERUHAB L
1,990,000,000& *0.36% 7,164
AT JIBAIE KIEALS 560,000 0 560,000
401 AIEHI L 201 560,000 0 560,000
01 A& HI 560,000 0 560,000
OlNM2E g & 22 &X 560,000
—Ot® &7 24X (L=300m)
100,000, 000& * 14 100,000




SN HEHEEAY
g tss=A4 C>XIJ—FEI
el A AIEMA (=& J)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—AE 20 SN 9
20,000,000 =14 20,000
— B9 AD| 2FNY  110,000,0008! *14! 110,000
— B B BINL L HIISE 14
150,000, 0002 * 14! 150,000
— oto] Or8 & & Xl (L=500m)
50,000,000 =14 50,000
— WA MEE 22 HX(L=1km)
80,000,000& » 14 80,000
— Mot 41 22 & X (L=700m)
50,000,000& » 14! 50,000
ARR $C L5 AL Y A X (HE) 1,857,000 714,000 1,143,000
< 1,300,000
e 557,000
401 Al HIZ 2018 1,857,000 714,000 1,143,000
< 1,300,000
e 557,000
01 A& HI 1,850,339 709,529 1,140,810
OnSd A 1,850,339
—ARESE SRSAE HBAL(HE)
1,850,339,000& 14 1,850,339
< 1,300,000
s 550,339
03 Al 2 THHI 6,661 4,471 2,190
OnSdeAY 6,661
— A2 ESSAE HEAY
1,850,239,000& *0.36% 6,661
SHEMBEL NS (ZAUNSHLET SHEAY)(HE) 3,949,018 1,857,000 2,092,018
< 3,605,000
s 344,018
401 Al HIZ 2018 3,949,018 1,857,000 2,092,018
< 3,605,000
s 344,018
01 A& HI 3,601,804 1,692,335 1,909, 469
OZEHEAY 3,601,804
— Ul SMS(REXNTR) EXNAS (M EH
2,969,000, 0003 14 2,969,000
< 2,969,000
— NS4S (RENT) EXAS (K]
) 632,804,000 =14l 632,804
< 632,804
02 Zeltl 337,489 158,572 178,917
OZENMEAMS 337,489
— 2S4S (REXR) XML
3,601,800,000& *9.37% 337,489
< 3,196
e 334,293




2N dotSAY
Hm: 1224AE SAR2
el A AIEMA (=& J)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 AlE 2 THHI 9,725 6,093 3,632
OZSHEAY 9,725
—ZNISHLE(RYND) EXIAY
3,601,804,000& x0.27% 9,725
St JHRSH XIGts 22l 20,000 20,000 0
< 6,000
[ia 14,000
Aot el 20,000 20,000 0
< 6,000
e 14,000
Kot SR &2l A 20,000 20,000 0
< 6,000
s 14,000
401 A& HIZ 2018 20,000 20,000 0
= 6,000
i 14,000
01 A& HI 19,786 19,786 0
OEHIEXAY 19,786
— X5t SXl2el 19,786,000& 14 19,786
< 6,000
i 13,786
03 AlE S THHI 214 214 0
OSZHIEZAY 214
— X5t SX2el 19,786,000& *1.08% 214
ALa=Eo 2 HEH B 11,045,712 11,104,522 A 58,810
= 120,000
s 1,426,000
< 6,084,000
s 3,415,712
Negarse ohg 8,204,712 4,494,522 3,800, 190
2 120,000
< 6,084,000
i 2,090,712
SHEMEESNL(E2XF)(HE) 3,218,105 1,857,000 1,361,105
< 2,753,000
s 465,105
401 Al HI K 201 I 3,218,105 1,857,000 1,361,105
< 2,753,000
s 465,105
01 A& Bl 2,932,749 1,692,335 1,240,414
OTZEHEAY 2,932,749
—ERX7 sHE LT SEAL(HE
) 2,073,418,000& 14 2,073,418
< 2,073,418
-2 sHE AL SSAY (XY
=) 859,331,000 » 14 859,331




AN dot=SAFE A
E: NYMLTO %22 AFH B2
S XNYah=E e (9 ® =)
. SfE|
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 444,500
s 414,831
02 Zeltl 274,798 158,572 116,226
OTZEHEAY 274,798
—HRNT S0E NYMLE HEAY (DS
) 193,582,000 * 14! 193,582
= 193,582
—gHIXNT sHE YT SSAY (XY
Bl) 81,216,000 =14l 81,216
< 41,500
[ia 39,716
03 Al S THHI 10,558 6,093 4,465
OZENMEAMNS 10,558
—HRXP S0E NYALE HEAY
2,932,749,000& *0.36% 10,558
SHEMEBESNL(NSRF)(HE) 2,755,105 1,857,000 898, 105
< 2,360,000
s 395,105
LI 2,755,105 1,857,000 898, 105
= 2,360,000
s 395,105
01 A& HI 2,510,804 1,692,335 818,469
OTZEHEAY 2,510,804
—XNZ2X7 sHE AL SSAY(HE
) 1,777,999,000& 14 1,777,999
< 1,777,999
—XNBXTF s0HE XNLa+E SEA (XS
Hl) 732,805,000 » 14 732,805
< 380,477
[ia 352,328
02 2teldl 235,263 158,572 76,691
ORSHEAY 235,263
—XNBNP SHE NLALE HBA(HE
) 166,001, 000& 14 166,001
S 166,001
—XNBXF sHE XNga+E SESAL (XY
gl) 69,262,000 » 14! 69,262
< 35,523
s 33,739
03 Al 2 THHI 9,038 6,093 2,945
OZSHEAY 9,038
—N=X7 sHE NS ESAY
2,510,500,000& *0.36% 9,038
SHEMEESINL (=SX7)(HE) 1,143,000 0 1,143,000
< 971,000
i 172,000
401 Al HI L 2 THHI 1,143,000 0 1,143,000




A dot=Z A A
u: YNLTO ASE ONFHE B2
Chelr Ao e (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 977,000
s 172,000
01 A& HI 1,041,648 0 1,041,648
OBEHS ALY 1,041,648
—2EXNT SOE NYALT HEANY (A
) 731,687,000& x 14! 731,687
< 731,687
— 2SN sHE NLa>E SSAL (A
Hl) 309,961,000 » 14! 309,961
= 156,398
i 153,563
02 Zeltl 97,602 0 97,602
OZEXEAY 97,602
— ST sHE NLL=E SSAY HE
A 2tel 8 (&a) 68,313,000 » 14! 68,313
< 68,313
—4ENT S0&E VYT HEANY AM
At 2tel 29 (Xedl) 29,289,000 » 14! 29,289
< 14,602
i 14,687
03 AIE 2 0H bl 3,750 0 3,750
OaEdEAS 3,750
—xsA7 sHE NS SSAY A4
3l 1,041,648,000& *0.36% 3,750
=28 H12 Mg 40,956 0 40,956
401 AIEBIZ 201 8I 40,956 0 40,956
01 Al& Hl 40,740 0 40,740
OfR+8 MIAY AALZH (L4, US)
425,000,000 *4.88% 20,740
OR=28 HMIMY ===EA 20,000,000& 14 20,000
03 AIE 2 0HHI 216 0 216
S8 MDA AIZ=202Z4
20,000,000& *1.08% 216
N S99 STAEY 480,630 700,090 A 219,460
401 A& HI L= CH bl 480,630 700,090 £219,460
01 A& HI 477,390 695, 856 A 218,466
OXNgaxE g7 SZAY AL &2
(2&,&23xY) 415,000, 000& *6.60% 27,390
OXgaxz S+ A (W) (HX)
200,000,000 =14 200,000
OXgasz Z+=729 A (BEY) (6%
HEH) 200,000,000 * 14l 200,000
OXgaxz 2723 A (FAY)
50,000,000& =14 50,000
03 Al& 20l 3,240 4,234 ~094




AN dot=SAFE A
M XNgasEo H2E AFH 25
chelr XgaxE Y (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONBAFE 2279 ZENY NEL0S 0]
450,000, 000& *0.72% 3,240
NYa==E =EHSI| OI&A 69,484 0 69,484
401 Al HI K 201 69,484 0 69,484
01 A& tI 69,124 0 69,124
OXga=E =EHSI| OIEAY AAIEA
280,000,000& 6.83% 19,124
OXNa2E =EHEI| 0l8Ad
1,250,000 *400H 2~ 50,000
03 Al 2 THHI 360 0 360
OXNgaAxE 2EHSI| 0/Z8AY AIE20E
=l 50,000,000& *0.72% 360
E Nga=5 It AL 200,000 0 200,000
401 AIEHIZL 2CHYI 200,000 0 200,000
01 A& Hl 200,000 0 200,000
Os0&E Ng&dxE I3 XA AY
200,000,000& =14 200,000
A2gE AE X € sX2el 47,000 40,000 7,000
401 AIEHI L 20 47,000 40,000 7,000
01 A& HI 47,000 40,000 7,000
OAsHE A &( 4,000,000 *20H 2~ 8,000
Oastd E= 1,500,000 2004 2 30,000
OoaxgEg=+=x2X =
300,000 *30H 2 9,000
Sy AT B 40,432 40,432 0
401 A& HIZ 201 I 40,432 40,432 0
01 A& HI 40,000 40,000 0
ogdad= £ =AE 2ZAE 25
2) 40,000,000& =14 40,000
03 A& S THHI 432 432 0
Ot B2AY AIE203I
40,000,000& x1.08% 432
=& fdztel HEAY 300,000 0 300,000
= 120,000
e 180,000
401 Al HIZ 201 Y] 300,000 0 300,000
= 120,000
s 180,000
01 A& HI 300,000 0 300,000
OZHIEx= At 300,000
—FAT ANl KA
300,000,000 =14 300,000
= 120,000




2N Aol AIE A
BH: YALTO %S OGN B3
S XNYah=E e (9 ® =)
(o
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
| | o 180,000
Al g aba=COf S 2,751,000 6,610,000 A 3,859,000
= 1,426,000
= 1,325,000
AU HY ALY 2,751,000 6,610,000 A 3,859,000
g 1,426,000
= 1,325,000
403 XX SHHMS X201 A 2,751,000 6,610,000 A 3,859,000
= 1,426,000
= 1,325,000
02 Z2I)|2SOUeHI =X E A HI 2,751,000 6,610,000 A 3,859,000
OZESAHANLY 2,751,000
— KA LC SHSIAE (S A =20 HY|)
2,751,000,000& « 1Al 2,751,000
Fas 1,426,000
= 1,325,000
otx=& &2 5,758,696 3,948,108 1,810,588
= 3,618,000
= 225,700
= 1,914,996
otEXelAlE &X 5,758,696 3,948,108 1,810,588
= 3,618,000
= 225,700
= 1,914,996
ot 9o &X 2 22l (ot=ZHHHIBTLEUS) 2,533,120 1,892,368 640,752
= 1,673,000
= 860, 120
201 LBt 9| 4,520 5,600 A 1,080
01 AP 22| H| 4,520 5,600 A 1,080
O2HIExZAY 4,520
— S 2%Z2 BTLAIY 2H A NEHIIRIEE ¢
70,000¥ *6H ~63] 2,520
— S 2A4Z BTLAIY 2IEAHAUEHI ARES
el 2,000,000 2,000
401 Al HI L £ 0HHI 2,528,600 1,886,768 641,832
= 1,673,000
= 855,600
01 Al& H| 2,519,530 1,880,000 639,530
O2HEXZ ALY 2,519,530
— S22 BTLAIYE 2UE KNIAY
2,015,730,000& » 1Al 2,015,730
= 1,673,000
= 342,730
— S22 BTLAIY 29d| NALE
503,800,000 « 1Al 503,800
03 AlE 201 Y| 9,070 6,768 2,302




2N
X ZH -
L= B

el

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
O2HIBExZAY 9,070
— SHFE BTLAIY 2 2 22d| XNEALY
2,519,444 000 0. 36% 9,070
ot4=E9 AX 2 Z2(sH= OISot4+E Zdl) (= 100,000 87,800 12,200
ERSPNEY
401 AlEHIZL 201 Y| 100,000 87,800 12,200
01 Al&H| 100,000 87,016 12,984
O=2HExZAY 100,000
— s 8XF ot Ald X SAt
100,000,000 =1 4! 100,000
ol#=E9 AX 2 Z2(sH= OtSoteS Zd|) (& 680,700 257,000 423,700
AKX F)
= 627,000
o 53,700
401 Al HI L E0HHI 680,700 257,000 423,700
= 627,000
= 53,700
01 Al&H| 676,438 255,162 421,276
O=ZHIEZAY 676,438
—MAEXNTF St AlE EXZ2A
676,438,000 « 1Al 676,438
= 627,000
= 49,438
03 AlE 21| 4,262 1,838 2,424
OZHIEXZAY 4,262
—AENT GIATAIE HXZA
676,438,000& *0.63% 4,262
o= 4,262
ot==o &AX & 22| (o= EHH|) (42, &l 63,600 140,400 AT76,800
2)
= 18,000
= 45,600
401 AlEHIZL £ 0HY| 63,600 140,400 AT76,800
= 18,000
= 45,600
01 Al&H| 63,033 139, 396 ANT6,363
O2HIEBxZAY 63,033
— &= E2UXNT =22 U Z2A
63,033,000 x 14! 63,033
= 18,000
= 45,033
03 A& E2HH| 567 1,004 N437
O=ZHIBEZAY 567
— &2 EUHXF 522 AU 2 A
63,000,000 *0.9% 567




A dot=Z A A
HE: 54c 2el
& St=XelAld &X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
St=So AX ¥ Zel(dt=2H Fdl)(AMAX ) 714,000 0 714,000
= 500,000
s 214,000
401 Al HI K 201 I 714,000 0 714,000
= 500,000
s 214,000
01 A& Bl 709,530 0 709,530
OZHIEx= A 709,530
—AEX S St=22 X ALY
709,530,000 » 14! 709,530
= 500,000
[ia 209,530
03 AIE =TI 4,470 0 4,470
O=HIEx= AL 4,470
—MAEXF ot=22 EXAY
709,523,800& *0.63% 4,470
StMel&sE (et ZIstaHMelAld dsd) 715,000 0 715,000
= 500,000
< 107,500
[ia 107,500
401 AIEHI L 2CHEI 715,000 0 715,000
= 500,000
< 107,500
s 107,500
01 A& HI 710,524 0 710,524
OZ3HIE= AL 710,524
—oto|H ZFGIe=HlANE S5 (SE)ML
710,524,000 » 14! 710,524
= 500,000
< 107,500
i 103,024
03 A& =2 THHI 4,476 0 4,476
O=HIEx= AL 4,476
— 0o ZBIot+HEAE S (SH)AY
710,476,000& *0.63% 4,476
St oaxigdael(HestsHMel Al ) (HEESXR 429,000 0 429,000
)
= 300,000
< 64,500
e 64,500
401 AIEHIZ 2 OH Ll 429,000 0 429,000
2 300,000
= 64,500
fia 64,500
01 A& HI 425,934 0 425,934
O=HIEx ALY 425,934




2 M &ot

BE: Gtac 22
S ot=HelAld &X (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
—E, &3X7 HAASt=ZHHI S A
425,934,000& * 14 425,934
= 300,000
& 64,500
= 61,434
03 AlE 201l 3,066 0 3,066
O=2HIBX ALY 3,066
—E , &23X7 HIASSH U S AL
425,833,000& *0.72% 3,066
220t ol CH Bl 523,276 1,405,040 N B881,764
401 AIEHIL 20| 523,276 1,405,040 N B881,764
01 A& HI 520,000 1,400,000 A 880,000
Odte=E &2 CCTV ¥ AHASF X AL
5,000& *4,000m 20,000
Otz AHUX & &4 5,000& *10,000m 50,000
Ostys M0t otaHdel 7Y 2 AH(L=1.
5km) 200,000,000& * 14 200,000
OMZol IIA OIS BH4H2 7S HETA
100,000, 0003 =14 100,000
O2ALo=TAIE 227 L A2
150,000, 0003 =14 150,000
03 A& 20HH] 3,276 5,040 N1,764
OZ226t=STHoll CHHIAIY Al& 20HYI
520,000,000& +0.63% 3,276
HHSIHU (Mol AIEA) 68,640 68,640 0
Jl2& bl 68,640 68,640 0
&l 68,640 68,640 0
201 LEt2AY| 37,959 37,959 0
01 AFR2t2l bl 37,959 37,959 0
ORNENH 1,831,000& x174 31,127
OZ &l 3,400
— SEZ20A I 8,000& x 17 25 3,400
ZHS A X 286,000& 10 =12& 3,432
202 04 b 26,520 26,520 0
01 2LHOHI 26,520 26,520 0
O21 0 bl 80,000&x17H x12& 16,320
O&2 ¢l 75,000 *17H «8L 10,200
203 &R =&H| 4,161 4,161 0
02 d R R =AY 561 561 0
OFJAINMNMERF=AH| 33,000 x17H 561
04 ENSI IR =AY 3,600 3,600 0
ORNM2gI2F&Y| 300,000& x12& 3,600




